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'COMPUTATION OF LIMITS L cibigdl) ilaa
rsC ddsa 55 clyfig Ay . el ol g8

LiMIiT LAWS. For any functions f and g, and any real numbers ¢ and r,
we have (usually writing lim for lim)

T—a
(i) lime=1, 4l alla _
lim
(ii) lim z = a, slaa 4lla
L—23
Gl dae A G uall

(iii) lim(cf(z)) = clim f(z),
(iv) lim(f(2) + g(x)) = lim f () + lim g(=), gl Bacld

(v) lim(f(x)g(x)) = (lim f(2))(lim g(z)). (o acall 3ac 18
(vi) lim(f(z)/g(x)) = (lim f(x))/(lim g(x)), danidll 32c18

(vii) lim(f(x))" = (lim f(z))", 3 gall 3acd

where it is assumed that on the right the limits exist and the expressions

\|| '.; fll—lhfg‘!%g.:h |

If L,M,cand k are real numbers

are defined.

liml =1 eih
ome ‘ d._a.;Lan\Jbu
- - e . & A-!" - “a
x—1

hm 10 = 10 and limar = 7.

x—2 1—6

lim f(x) = f(c)

Aﬂbjigsx ‘Ln.;@.l )::L\n.lll wjl.ﬂbéj.!:no):;\s

limx?+3=7 llmx—2
x—2 x—2

A & il oy Juala

If c is a constant, then

limcf(x) = clim f(x).

(@) lim5x = 5limx =5-8 = 40
(b) '\_1_1)1‘512(—%):) - —%‘E)mzx - (_%) - f=2) =

0544560575 -~ ) gsas [ dlae) duaidly alilgdl) 3aay 25
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Suppose a is a real number and lim f(x) and lim g(x) exist. If lim f(x) = L, and !H}: g(x) = Ly,

lim[f(x) = g()] = limf(x) = limg(x) = L, * L,,

l_ing(le + 7) = lim10x + lim7

x—5 x—5

= 10limx + lim7

x—5 x—5
=10-5+7 = 57.
lim /(98] = (lim f0)(limg(0) = Lid, - | ST 202 B

!_i_l;ﬂs[f(.r)g(.,\')] raagls limg(x)=4, mf (x) = =3 i cule 13)

lim[fg(] =¥
A !1—133; J %) 1
P—Trg(_l) = 1ll’i1 g(xj = Z; L, #0. Glileill dand 3ac1d

5 lim 5 5_ 5

lim = =22 <5 = =
x—4 X2 Iim -12 42 16°
x—4
Let lim f(x) = L and n be a positive integer. Then GLlgall 3 4all Bacd

lim [f(9]" = [lim f(0)]" = L"

lim (3x — 1)"" = [lim 3x — D]'* = 2'° = 1024,

0544560575 -~ ) gsae [ dlae) Juaidly alilgdl) 3aay 26
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Suppose l_im_f(x) =5, limg(x)=-2, and limA(x)=9, find
e il : C;,.a A ¥ fog h sl Sllgs asddiul

a) tim[ /(x)g(x)] b) tim[ / (x) - (x)]

¢) 1limJA(x) d) lim[g (x)”}

e) lim[2h(x)-3g(x)] 0 I m{f (x)]

X—>C

2 'L“m” h) tim{ g (x)]

‘ Aa ofiaaaall g of Gl aadil
For f(x) = x* — x — 6 and g(x) = x*> — 2x — 3, evaluate:

(@) lim [f(x) +g(x)]

x—1

(b) lim f(x) - g(x)

x—1

(c) Iim —=
() lim [£(x) +g(x)]

(@) lim f(x)-g(x)

(g) lim [f(x)]’

(h) lim (/1 —g(x)

x—2

0544560575 -~ ) gsas [ dlae) Juaiily alilgdl) saay 27




pdiial) de AU Ciuall JOY) ol Al Jaadl)

The graphs of f and g are given below. Use the graphs to evaluate each limit.

b b

y=fx) | y=glx) |

AN

ZOCNA] ,

V1o 1 1% [ [9o 1 [ N4

| | |

a) lim[ f(x)+g(x)] b) lim f(g(x))

c) Lig;[f(X)g(X)] d) l,_i_‘]}[z-f'(x)+5§(-")]
im f(x):| im| xf(x

Use the graph in the margin to evaluate each limit.

A5 08 Aah ¥ 359l (Al pu ) paiia

@ Jm f() AN
(b) lim f(x) L

X2 Bl e e

(@ Jm /) I
@ lim f(x)
x—4+ 1i
@ lLim f(x) (g) lim f(x)
ad (h) lim f(x)
(f) lim f(x) i
e (i) lim f(x)
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Use the graph in the margin to evaluate each limit.

@) lim f(2x)

(b) lim f(x —1)

xX—2

(c) lim3- f(4+x)

x—0

Aled JS Aad Ay 353 gall ALl au gl addi

(d) lim f(3x —2)

x—2

Use the functions f and g defined by the graphs below to determine the following limits.
A0 3 gand) aaaast slial Al a g 1 (B fadaall g of allAl padii)

Yo oy

() Lim [f(x) + g(x)]

x—1

(b) lim f(x)-g(x)

x—1

f(x)

¢) lim —=
()pnﬂﬂ
(d) lim f((g(x))
x—1
Suppose that liil}f(x)=0 and liE}g(x)=5. Determine the following limits.

a) lim(g(x)+5) b) limaf (x)

C) l\l—l—?'}g- (x) . x—7 ‘ s

Juai¥ly clbilgdl) 3aa g 29

0544560575 -~ ) gsas [ dlas)




pliial) jde AU Ciuall JoY) il Al Jaadl)

Calculating ;1_131 f(-’L')

https://www.symbolab.co
m/solver/limit-calculator

= A. Direct substitution
Try to evaluate the function directly.

f(a)

'
fla)=2 fla) =" fla) =12

where b is not zero where b is a real number
B. Asymptote C. Limit found D. Indeterminate form
(probably) (probably) -
example: example: 5
1 i x° —x— 2
. Y ) Gy 2 1n
lim lim z“ #E)* = 9 \ 2 _ 9 — 3
z—1x — 1 T—3

Inspect with a graph or
table to learn more

about the function
at x=a.
Try rewriting the limit in an equivalent form.
E. Factoring F. Conjugates G. Trig identities
example: example: example:
i x?2 —xz—2 I VI —2 e sin(x)
11 - IR j=—— =W
z—=—1712 — 214 — 3 s34 —4 z—0 3111(23;)
can be reduced to can be rewritten as can be rewritten as
1 &= li 71 lim ————
11m 1m 1
g—a—1o2—3 x—4 /T + 2 x—0 2 cos(x)
by factoring using conjugates using a
and cancelling. and cancelling. trig identity.
Try evaluating the limit in its new form.

H. Approximation -

When all else fails, graphs and tables
can help approximate limits.

0544560575 -~ ) gsas [ dlas) Juaiily alilgdl) 3aay 30
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adiiall yde AU cial)

JJ‘Yi q.ub.m Suail)

.J.J.C- (| E-AT
2ac =0 0z
- H

[ bl (a sail) aladiuls 4Ll Y g sl ]

. :t(]

4.;.._)._I.l._ﬂ_9...u

Jaaiilly

Evaluate the limit b Lea ST AN o

lim(x* — 3x + 1)

x—0
lim V/2x + 1
x—2

lim cos ™! (x?)
x—0

2+5x+sinx

lim
x—0 5cosx
5x> +6x+10

x> 8x—1
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Evaluate the limit
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tim L
=1 x24+2x—-3

x>0 x2 4 x

2
o (9+h) 81

h—0 h

o 24+ x)3-8
lim
x—0 X

fien t2—3t+2
r1—>2 t2—4

o oxt =1
lim : =
x—>1 X _1

0544560575 -~
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(x2 _1)10
im-— 5
3l (x°—2x+1)

[ 233294 ;€ 9 00, — 00(s ghuad (Al Axlgll J
— ¥ - | :
lim —=—-o0 Iim—=o0 lim— = not exist
=0 x x—0" x—0 X

% h (sl gasl) il LS 13

Jﬁjm,—mgjmgﬂlai@l
83 63 g4

‘alln.n SJL&! u.uJ..'l!

Evaluate the limit b bea JS A sl
, % — 25
lim

z+—1 g2 —4x — 5

_ 21
lim

=2 12 —4
li :
x}—rgx — 3

i 1
243 (x — 3)?
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. 1
zlclgz}, (x — 3)2

lim—— =
9 18 —2x

: 2x
11m2—
x—2 X~ — 4

0544560575 -~
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: " (x3 —1)%"
Find value of n xl_l}} (xz “2xt D"
" x?—9p
i IMm———  Exist s25
Findvalueofb  J1R = "3 XISt 035> 5
. x> +kx-3
Find value of k lim S

x—-3 x—3

. ax*+bx+6
Find value of @ and b lgg ~— 2 =
0544560575 - sl 5a5 | e

=81 n 4ad 22

¥ (ot Al il I

b 4ad 2

ke dad 2 )

b 9 aiad say
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[ Cilalial) 3593 pladlualy Sapunllz AU g o3l J
Evaluate the limit b Lee ST AN il
—1\x—1 x2-1 5 G &l ek,
a " c adt ch
b —d bd
1
== 1
lim
x-»1x—1
- |
lim—( - )x

=y S4x% S5—2%

i X =
x—2 l_l_
x 2
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20 + 8 1
; 2 —-12 =z
lim
r——06 $—|—6
1 1
i 3+ 33—z
x—0 4
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| A il gl |

|t gme |

T

= ~—
/’ ‘ H"""H—.h

ENEaEa
Jaall Giays da a5 Jal) s gulil

Evaluate the limit b lae S Al il

limvax — 2

X—4

limyx? — 10

x—2

lim v2z — 14

z—7

lim +/3— 3z

r—1—

lim V1 — 2x

x—4

lim V9 — x?

x—5

limV2x + 1

x—-2

0544560575 -~
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[ (381 sall a)adiu| J

Algebraic Expression (spuzdl ;lasall) Conjugate (gslyall) Product (upall Jols)
L — z+a z? — a?

VT —a VT +a z — a’

Ve—b—a vz —b+a z—b—a’

Iim

x—0 3 &
. 2%

lim

=g —afee9
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:v+103 VX

o ANBFI—T
lim ————

x—0 X

\Vx+9—4

x-7 X-7

) VXxX+9-3
lim ———

x—0 X

y 2X—6
lim

xXx—3 X

0544560575 -~
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p35254 limo YT aas illa dad a

x—2 D
: en 1 3—alx+ :
Find the value of a that makes it lim=——>"% exist.
=32  De=x
Vax + 9 - 3 - -
what is the value of a? Li_l’l{} . =1 a 4 22

0544560575 -~ ) gsae [ dlas) Juaiily clilgdll 3aa g 42
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[ A8 JAl): Gual) g ol J

e
-

(a9 il (o Algdll Bk (B 02 g3 g Agledl) LS 131 02 g g Ailgl) (oS
Ay gluaie Liznal g Jlassl)

Ao = ) o gl = Caaad) Ga Algdl)

s X >a = <
. Suzel @3 x ddl Jogs sl suall J) yais Vgl

f(X) —_— ‘x‘ Jduosva &a_;}SlOb’ié!dlaL_sf‘ju.,by

24101 § posaia (e JBI O 1319 141

Ty bt < Ol e ddd a JI Jois dlgdl i 131 Lol
24 Xsa 05559 ! Llgi! Sl Gradd! Dolgd)
| _ - B 239> ge
et O 131
" " x3 -1 ) $& 3
f(x) = 0 xX=2
Find ‘ Vx+1-—2 x> 2 Azl
f(-3)=
f(5)=
f(2)=
Lijgf(x)
Liyif(x)
o )
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ol f=, =22l sl
f(‘x) - x2 . X 2 2

gl

D fB3) =
2)f(-2) =
3) limf(x) =

4) limf(x) =

5) limf(x) =

OK 131

let 241, -1
| f(x)z{?rx:] [t

{th gl

1) lim f(x) =

let 2x+1 , «x<-1 OF 131

r— f@) =143 gy =l<x<il
Find 2x+1 , x>1

lim f(x) = lim f(x) =

x--—1 x—-1
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?..\.i:i.n.” Jﬁaﬁ g.im’l dual) dj\"g.u_) d.a.ﬂ.l.‘

o5 131
2x+ 6,x < -1
let e { :
3 Fhas]
Find

limf(x) =

x-1

gl

—2x—-15, x<£-6 O 131
flx)= " ——

lim fi(x) =

X——6

OK 131

let l f(w)h{\/ﬁ,mSQ

— iy
‘ Find 9

1) limf(x) =

let VE—B—4, is1 o8 131
f(z) =

_ Find —4z2% — 22 + 505 g i 11
lim f(x) =

x—11

el
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1

: i X< _2 O 131
let x+6’
i fx) = 2= -2<x<0
sl x? — 4, ¥ =0 s
a. lim f(x)=
x>—2
b. lim f(x)=
X=—2Z

C. xE£n2+f(x) =

d. )lci_r)r(l) f(x) =
&, xlir(l)‘l_ fx) =

FEVOR
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— o8 131
let o) {—4m2—|—2$—|—58, z=4 °
) =
Find i @ #4 =
limf(x) =
logx+4 =2 3x+1, x=2 | o5
let. o g b — + ) =
f(x)_{5x~l x<2 9(x)_{sinx, xX=2

Find azgl

lim(f (x) + g(x))

1 let " f;l fort < —2 o6 131
R f={ 270 for —1<it<2
[ Find | 3¢9 A for £>5 sl
(a) f(=3/2)=
(b) f(2)=
(c) [f(3/2)=
(d)  lim f(t) =
(e)  lim f(t)=
(f) lim f(2) =
(g) lim f(t) =

0544560575 -~ ) gsas [ dlas) Juaiily alilgdl) saay 47
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f(x) = |x|

IS ot 11 Suail

ol Jlgo JWI gsdl

Al e paldall Al iy i 5ale) quag dithal) Aagdl) aa Jalaill sic

—x, x=0 , LS Aillaal)
f(x)=|x|={ x, x>0 &mst,dew‘wﬁ;mhx
—x » -
: : . Ll x B L) ol
0 Ol (A il o JLEN) pua
s wdged & —(b -x) , x>b
—-(x—-b), =x==b f(x) =|b—x| =
f(x) =|x-b|= b-x , x<b
x—b , x%b
% D | ~{(x=~b)
:—(x—b) x—b : ) 0
0 =
” _f[—(x-=5), =xgp - _(—(x-5) , x>5
for=le-si={"®-D 255 | y@=isea={TG720 ¢ (TN
‘—(x—S) xX—95 _ B | —(x—-5)
g2 = ||
Jix—4)?2=|x—-4
y(x—a)*=|x—al
i
ﬂ : 2 2 )
lim —
-0 \ x |x|

0544560575 -~
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S . S5(x+2
 Find lim
: x—-2 X + 2

gl

\ Find }LI? ( x—6 - 3) gl

Find grS T gl

5 20
Find lim il gl
x—>—4* X + 4
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' Find lim —2x—6 szl
rod |=x=3
2
re—1 g
‘F’E lim i
z—1 |:{,‘ — ]_|
Find , 1 ol
lim + i
T——2 'm-+—2|
2
Find lim 33|$-—-3| a9l

r—3~ 51§ e 3

0544560575 -~

sl g as [ e

Juai¥ly clilgdl) 3aa g 5




pdiial) de AU Ciuall JoY) ol Al Jaadl)

x2 +x Azgl

| Find

let .
[—(x=5)+8. /x 35

' i
‘F'"d Flx)=+3 -2<x<&5 -

x+2 +3. X < =2

1} Iim fi(x) =

X—>—2

2) limf(x) =

0544560575 -~ ) gsas [ dlas) Juaiily alilgdl) 3aay 51
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T . zemmall JIga EJBI goidl
. 6
- [x + !?] = [Y] +n ol Taio e n cils 13l
— 6]=6
B—=0 =
} O—t { } { .47] = 4
Lt -5.99] =6

S Aglgdl) d T dde oldll g x OF sl Ay JANa (lay gattl] Aie
Sl g Gperdl Ga lgdl) A) e LN S0 naga ga
s e 2| gl (e 239 ga Al OB S iU LS 1) Lad

1) lin_l[x] =

x—2

2) lim [x 3] =

x—>2"

3) lim [2x—3]=

xX——2"

4) lim | x-3] =

x—0,5

4) lim [4x - 3] =

x—0,5
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' Find \

x—)2_

x—3

limx_[x+l] _
x—3 e d

lim[x]

x—2

1imx[x+2]=

x—0

. o]~ e 1]
lim
X—6" X—6

s 2

0544560575 -~

lim [x—3]+‘x—2‘=

1im[2x—3]+‘x—3‘—x=

ol g s [ dlas)

IS al 1l Suail
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J

Trigonometric Identities

TANGENT IDENTITIES

EVEN/ODD IDENTITIES
sin(—f) = —sinf

cos(—6) = cosf

RECIPROCAL IDENTITIES

0= ! inf = 1

e "~ sinf sin " csch
1

secl = o508 cosf = wocl

te = 1 tanf = -

€0 " tanf n " coth

DOUBLE ANGLE IDENTITIES

sin(20) = 2sinf cosd

cos(28) = cos? 6 — sin® 6

PYTHAGOREAN IDENTITIES

sin?0 + cos?6 =1
tan’0 + 1 = sec’ 8

cot?6 + 1 = csc?6
HALF ANGLE IDENTITIES

(9)_+ 1—cosf
s 2 - T 2

tan(—@) = —tan @ =7c0s’6 -1 8 1+ cosf
os(§)=2 |5
csc(—0) = —csch =1-—2sin%#
sec(—0) = sec / 2tan6 6\ , [L—cosb
aZ0) o 1—tan%6 tan(i)_t 1+ cosf
cot(—8) = —cot 8
dal o) gd
1)lim sinx = sina, lim cosx = cosa
X—=a X—a
2)limsin~!x =sin"!a lim€os ™t x =cos la
x—a X—a
- sinx ~sin(ax) a
lim——=1, lim——— = —
x-0 X x—0 bx b
4)li 1 T .
im—= im———==
x—0 Sinx : x=0sin(bx) b
_ tanx _ tan(ax) a
5)lim =1, lim——=—
x-0 X x—0 bx b
6)li 1 i e
im =1, im———=—
x—0 tanx x—-0tan(bx) b
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Evaluate the limit b oo S dolgdl G|

SIn X

Iim
-0 tanx

. tanx
lim —
-0 Xx

. lanx
lim

x—-0 bBx

: X
lim cos —
x—2 3

. . oEx
lim sin —

x—1

limsec2x

x—0

Iim (Sin2 X + cos? x)
/e

x%z

, STt
Iim tan (—)
x—3 X

Iim (7+2 cos(x))§
x—7/3

55
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Evaluate the limit

sin(x? — 4)

1i
1m 2 i

x—2

sin | x|

Iim
x—0 s 3

~ msinh
Iim ——
h—0 2h

cos?(x) — cos(x)

i
xl—I»I(l) cos(x)—-1

cos2(x)

lim
x—7/2 sin(x) — 1
sin(2x —4)

5x—10
sin(2x — 2)
x—1

Iim
x—2

Iim

x—1

sin(x2—-1)
x—1

, L

lim

6—0 Ocot(40)

Iim
x—1
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Evaluate the limit

lim(x? csc? x)
x—0

cosx—1

lim =
x—0 x

1—cos” 8x°
4x°

Iim

x—0

1—cos 2x
2x2+x

1im:r:—>0

sin? x cos

tans =

hma:—)O

1—cosx
tan x

lim, o

tan r—sin x
T COS I

limmﬁﬁ
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Evaluate the limit

sin”3x

lim
x—0"

3x‘x‘ B

. xSindx
llnl-—j—zr——-::
=0 SN~ 7x

A
. BN 2 X
lim :
x 0 3x?%sin3x

5x + sin 3x

lim
x—0 X2 + tan 2x

sin|x|
Zy

lim
x—0

0544560575 -~
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e L .
i Zx—&  xwsmbzx
‘ [ 3sinx

k 4ad 22 gf(x) =1 2x
(kcosx

Find the value of b if
o xt -4
lim

——=]im
x->-3 X+ 2

x—0

0544560575 -~

I tl 1l Juail

CilS 13 b dasd A g

Cus li_n;z} f(x)=3 sy
x5

O 1M b dad aal
sin 6bx
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squeeze theorem

(5 pudait 2 ,455)
& ol szl
f(x) < g(x) < hix)
lim f(x) = limh(x) = L e a4 € (¢, d) adazsd) lae Lo (¢, d) 5,52 oo X JS
limg(x) =L ;9% J3) L sasly
1 3
1)—1 <sinf(x) <1, ex:-LL £ sin; EWand -1 < :sinx—2 <1
| 1 | o3
1)0 < sin® f(x) <1 , %x’0 < sif—"<"Tongh 0= _’;mzr—z <1
1 1
3)—1 <cosf(x) <1, ex:—4'< cos; <land -1 < COSF <1

1
4)0 < cos®f(x) <1 , ex: @< coszﬂ < land 0 < coszx—3 =0

Determine the value of (if exist)

Jim lxz COS (1)]
x—0 X

lim v/x — 2 cos (—]—2)
r—2+ £
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Determine the value of (if exist) dad 2l

1
lim(3 + x)sin (—)
x—0 X

lim x4
x—0

8]

)

COS (

im{e—1 cos (L)
il_rﬁ(zc )* eos | ==
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Determine the value of (if exist) dad 2l
lim [1/xcos?( L)] =
x—>0+[ \/_ ( X ) 0

2 inlk M ot .;I i I8 2V s 28]
Suppose that f(x) is bounded: that is, there exists a constant da % St il b
M such that |f(x)| < M for all x. Use the Squeeze Theorem &) sL¥ & pda il & s pasiwl X g3 g [f(X)| <M

to prove that lim X¥f(x) = 0. limx*f(x) =0

x—=0

[g() +4[<23-x)" e M (D) slgstlaabuid ki plabiot
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l’(iil('})c2 g(X)ZO:O‘M%qu*E:._}mB e |g(JC) |SB D eales 1

Determine the value of (if exist) 4o _1:_:..51

lim x%sin— + 1
x—0 x

lim x%sin—+ 2
x—0 D
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[ Ay, el calilatiay) o Jila ]

1. Question 1(2024-2023):

3 27
Find the value of lim z 5
z—1 ° — 9

® ® ®
a2 T &2
(T I L 1 = I~ [C

L]
L=

2. Question 2 (2023-2022):

3 —1
Find the value of lini —
122+ 2r—3
e 2a) %
@ C) i
e d)0
2020/2019 . 1 4 ]
gy lim oV, dad angl
x=>2\x—2 x"—4
1 :
R = B i £
2
1
c 2 D 4
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2020/2019
A 8isa5a
c |
2020/2019

Question 1(2023-2022):

® [ ] [ ]
L T 8
o B oo 0w

L]
8

0544560575 -~

ISV el 1 Jaaril
.. l—cos’x . .
sy o lim - dad 23
x—0 x

B
D

Y 2x— |x| . ,

Sy o) Jlim ——— Ailgil) dad sag)

x>0 [3x]—2x

T+ /T —2

x—1

Find the value of lir_l}
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1. Question 1(2024-2023):

_Itifg x* f(x)=0 L Ol i enge pagds s M e | S(X)|SM il 1)

Question 2 (2023-2022):

_ { sinrx—=zx
Find the value of Lim — 35—
1. ‘|1 mt

Question 3 (2023-2022):

9

sin L , . cos‘z—1

Given that lim —— = 1, {ind the value of lim ————
0 I z—0 222
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Question 4 (2023-2022):

Find the value of lin*(l] x? csc? x if it exists
"I‘ »

e a)l
e b1
e () Undefined

e d)2

Question 1 (2022-2021):

Given that lim — — 4
z—07 1 vl

l—cosz 1 .. A/1—cosz
,» find the value of im ——

0T &

Question 2 (2022-2021):

1 —e**
Find the value of lim ———
z—0 1 — e*

0544560575 -~ ) gsas [ dlae) Juaidly alilgdl) saay G7
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Question 3 (2022-2021):

; : 2%

Find the value of lhrgl 3 V219
e a)—6
e b _%
e 0 _%
e d)—12
Question 4 (2022-2021):

|z + 1]

Find the value of lini —
g1+ 2 — 1

Question 5 (2022-2021):

Find the value of lmtll 2::;
e a0
e b1l
e oo
e d)0
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2019-2020:
1. Find the value of:

; 1 4
lim; o (:r: 3 T 22 4)

a)%
b) 3
c) 2

d) Does not exist

Find the value of: 2019-2020:
2z—|z|
»0 |3z|—2z

lim,

Find the limit value: 2018-2019:
lim, ;2 %

a)8

b) 12

c)4

d) Does not exist

Find the value of: 2018-2019:

d) Does not exist

0544560575 -~ ) gsas [ dlas) Juaidly alilgdl) 3aay B9
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2

H i

limg 0 Gz

a) 1
b) 0
c) 0O
d) —1

Find the limit value:

(2+h)*—8

limh >0 h

a) 8
b) 12
c)4

d) Does not exist

Find the value of:

. . 2
lim; 2 =5
a)0

b) —1

c) 2

d) Does not exist

Find:
. ;1:2 1
lim, 3 V10—23-3

0544560575 -~
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2017-2018:

2018-2019:

2018-2019:

2017-2018:
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Question 6 (2021-2020):

1 —coszx

Find the value of lim _
r—0 xsinT

)

.a)

e D)

B | =t

e ¢) Undefined

e d)oo

Question 7 (2021-2020):

Find the value of lln{l] " i 5= é
e a) _%
. b)i
e 0

e d) Undefined
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